MELFTITIL—L

B45E FILMAERBRR TP UUHRK

B4 F—LB | EAB%K | BEARE | EABREK E
=EFE 3 10 62 44 18
EHE 0 1 19 72 -53
EHR 3 9 59 49 10
G 1 3 31 66 -35
AL 4 10 62 36 26
AR 4 12 68 34 34
PR FIA
B4 FLBEH | EABHK | BEARE | EABREEK E
Iz 8 4 10 61 49 12
EHE 0 1 37 69 -32
EHE 3 10 66 47 19
BEFR 3 10 63 57 6
R 4 10 61 49 12
BER 1 4 46 63 -17
MEZF2EB A5
B4 FoLBEH | EABK | BEARE | EASREE T [=iva
FHRE 0 2 56 141 -85 6
=2FE 6 20 125 101 24 3
=g 6 19 125 96 29 4
A IR 8 22 129 83 46 1
Iz IR 8 20 123 85 38 2
BEE 2 7 77 129 -52 5




gasll FLR A HRE RS

PEINY/E %57

REZLFIIL—

[2 4 No. 2 3 4 5, VE | Vi | TDi| TRi|TDi-TRi| PL
V3 V2 V3
1 %$ E 1 TD | TR TD TR TD TR TD TR TD TR 3 10| 62 | 44 18 3
71~
15 3 13 9 15 6 9 12 10 14
0 1
= KB
2 2| D | TR ™|TR|™|TR|T™|TR|T™]|TR| 0 |1]|19|72] -53
B Ak 1< 6
3 15 5 15 8 12 2 15 1 15
V3 V3 \Y
I_l_I ~
3 El i}]_k_ E 3| TD TR TD TR TD TR TD TR | TD TR 3 9 (59|49 10 4
71~
9 13 15 5 15 5 10 1 10 15
V2 0
4 *I:' I% E 4 | TD TR TD TR TD TR TD TR | TD TR 1 3(31(66]| -35 5
== 1~
6 15 12 8 5 15 6 13 2 15
V V3 1 V2 \Y
ZA1=
5 ﬁ/ ~ 5| TD TR TD TR TD TR TD TR TD TR 4 10| 62| 36 26 2
12 9 15 2 1M 10 13 6 1M 9
V V3 V3 V3
6 *km I/_IET 6 | TD TR TD TR TD TR TD TR TD TR 4 121 68| 34 34 1
14 10 15 1 15 10 15 2 9 1

RiTEEsE4




18-08-25;05: 03PM; IAralaLsss

;022 231 1230

HEATLBEFERR TV VI BE MRS

v ]| BELFIN—L No| 10
B £ LTz B =i BB 4
= F % % B 2 F &

1 e 5 v 0 INEE BT 1
2 R EiR 5 | v Rt A 2
3 Ay +2 5 v JkE % 3
% W | R ® K | BRR
T 10 2|V 17 [ 1
%! Al BELFIN—L No| 11
R&E| BF B MEH RI|R4A
% F % = = 2 F £
1 T kX 5 | v =i BT 1
2 B HF 5 | v EE W3 2
3 #H BF v 4 o T 3
R & | WX - M | WM
10 14 2 |V 14 10
& 3l - RERTFON—L No| 712
R&| BB R R Rimz|
FEE ® 2 SN

1 = O 5 IR B
2 T F8 v 2 Eo2R BT
3 EH BT v 1 EF &KX

R W | ARR A
12 8 v 1 8 12

4




18-08-25:05:03PY: {4TiHELEE

1022 231 1230

BASEIRILREBEAR Tz VR NEBIERER

& 5l BEZFIIN—L No| 13
-3 15 = =F 2R £
2 F £ £ 7 x F A
1 o EE V-5 il TE KN 1
2 BE X | V-5 | — |-2 IR ®F 2
3 Sl 2 2 { — | s 2H BE 3
% 3 | Mol vial— |1 = & | HER
~12 -9 -9 .12
w3 BERFEIIL—L No | 14
R&| B RBR| By R|R4%
2 _F A& ® R N
1 kB = -8 ] = |-0 BH ®BF 1
2 ML A V.51 —|-38 =H Nib% 2
3 NER BT -5 | = |2 Y T& 3
= % | WEw % B | B
5.1 5 |V|[3[-1]0 5 |15
¥E A BELFIN—L No{ 15
a2l BEH R xR |R%
2 F % = = T ENE
1 5% R¥ vl B | = L1 IR HiFESE 1
2 ok #Hz v-l.5 | = .0 ERK BT 2
3 MR B v-l &5 | = |-0 EF &K 3
I EEEE R EES
5.1 .1 | V|3 -10 T 15

LAV




#REF!

BELZLFIN

] £ No. 1 2 3 4 5 6 VE | Vi | TDi| TRi|TDi-TR
V3 V2 V2 1 V2
Za1=
1 7, 1 TD | TR | TD TR | TD TR | TD TR | TD TR 4 10 | 61 | 49 12
7 71~
15 2 10 12 14 13 9 13 13 9
0 0 0 0 1
2 Eﬁ E 2| TD TR TD TR | TD TR | TD TR | TD TR 0 1137|169 -32
= <
2 15 11 15 8 15 8 13 8 1
1 V3 V2 1 V3
I_I_I .
3 El i}]& E 3| TD TR | TD | TR TD TR | TD TR | TD TR 3 10| 66 | 47 19
1S
12 10 15 1M 12 9 12 1M 15 6
1 V3 1 V2 V3
4 %:: E 4 | TD TR | TD | TR | TD TR TD TR | TD TR 3 10| 63 | 57 6
- Z1S
13 14 15 8 9 12 11 12 15 1
V2 V3 V2 1 V2
5 *k /E\ 5| TD TR | TD | TR | TD TR | TD TR TD TR 4 10 [ 61 | 49 12
13 9 13 8 11 12 12 1 12 9
1 V2 0 0 1
6 *E I%LIE_ 6 | TD TR | TD | TR | TD TR | TD TR | TD TR 1 4 |46 |63 -17
== <
9 13 1 8 6 15 1M 15 9 12

XL E2fL[ENT—DI2&D
BRiMEERES




BASEIRIBERBTRR IV VT EHE HHERE

E 3B BMELZFIAR No 1
B £ 1L 2 = T B |e £
= F £ & = F £
1 wmE 5 v EF EK 1
2 EH EmN v ELXAKR BT 2
3 T T2 v R HpSE=E 3
= B | WER = B | WER
15 2 Vv 2 15
Z B MELFIAR No 2
B % =2F = FXH B e £
= F £ =1 2 F %

1 TIE KE v ME BEXR 1
2 “H BFE v /AR FE 2
3 MA HF =8 BT 3
= B | WER E ¥ | WER
11 12 v 12 11
ZE Al BELFIAR No 3
B £ = =2 B 2le £
E® F £ i ® F £
1 AR Z= v B EF 1
2 E AZE v =i ¥EE 2
3 INETR ¥ Th v 8 T=2 3
T B | WERK T B | WERK
15 6 v 6 15




BASEIRIBERBTRR IV VT EHE HHERE

ZE Al BEZFIN No 4
B & F i 1=} = I BIR £
N & = F £
1 EF #EK v bH 2= 1
2 ERK BT v ME ARZE 2
3 R BAZEZE v INGR & Th 3
T W | WER T W | BWER
11 15 v 15 11
ZE A MELZFIAR No 5
R £ FXH = = BHle %
= F 4 i E2 F 4
1 EEEES v = XEE 1
2 BAR FR v T T= 2
3 =g BT v B 2T 3
T B | BWER E B | BER
12 9 v 9 12
E Al BEZFIN No 6
RA&| W B £F B|r %
EZ2 F 4 ive] 2 F 4
1 BEH EMNR v FE XE 1
2 Ak F& v ZH BE 2
3 wE BFE v MHE ®\F 3
T W | WER T W | WER
14 13 v 13 14




BASEIRIBERBTRR IV VT EHE HHERE

E 3B BELFINR No
rx| T B iy =R
= F £ w R = F £
1 dtHE 2z v EH Em 1
2 Lt RE v s T2 2
3 INETR ¥ Th wE & 3
E e E W3R
12 10 v 10 12
E Al MELZFIAN No 8
B £ = =8 =2F B8 %
=2 F £ = F A
1 BH BT v FE XKE 1
2 =H FEE=E v ZH &% 2
3 EH T v A ®F 3
T e T e
11 15 v 15 11
Z A RELFIAR No 9
B £ B = X H BlR £
2 F £ 2 F £
1 B #K v ME BER 1
2 k2K B v ®wAR FIE 2
3 RE WE=E v = EF 3
T R ‘K 2R
8 13 v 13 8




BASEIRIBERBTRR IV VT EHE HHERE

E 3B BELFINR No | 10
B £ FEH = = I BB £
= F A & = F A
1 ME BEE v INGETR ETY 1
2 ®/R Fix NE AZE 2
3 5B BT v JtH 2= 3
T e xE w2
11 12 v 12 11
& 3l BELFIAR No | 11
B £ LIz =1 5 B8 %
E2 F 4 =1 £ F 4
1 wE & v BH EF 1
2 EH EmN B8 T& 2
3 Al &2 v = E#=E 3
RIS =g w2 EAE g W
13 9 v 9 13
ZE Al BRELZFIAR No | 12
B % aF = B 2le £
= F A & = F A
1 FE KB v EH EXK 1
2 ZH &% v fERK BTy 2
3 MHE ®mF v RE HAZESE 3
R e EAE e
15 8 v 8 15




BASEIRIBERBTRR IV VT EHE HHERE

E 3B BMELZFIAR No | 13
[-RP-4 Tk H =3 L2 B |8 %
= F A & = F A
1 ME BEE EH Ef 1
2 ®/R Fix v wE FE 2
3 =2 BT v Al = 3
T e xE w2
13 9 v 9 13
Z B BELFIAR No | 14
Rz =F B EF  B|n %
E2 F 4 =1 £ F 4
1 INGTR ETh ME ®F 1
2 MNE ARZE Vv FTE XE 2
3 JtEH = v ZH BF 3
RIS =g w2 EAE g W
12 9 v 9 12
ZE 5l BRELZFIAR No 15
B £ = =2 B B8 %
= F A & = F A
1 = X#E=E v 2 EX 1
2 B T= v fERK BTy 2
3 BH EF RE HAZESE 3
R e EAE e
11 8 Vv 8 11
v || BELFIAR No | /\5—
B % TN H = L2 BlEe %
= F £ i1 = F £
1 =5 RAF v EH Ef 1
2 2
3 3
E WK x #H wWIRE
3 2 |V 2 3




